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THIRDSEMESTER
COMPUTER HARDWARE AND MAINTENANCE!
COMPUTER SCIENCE AND ENGINEERING/
INFORMATION TECHNOLOGY
SCHEME JULY 2009
OPERATING SYSTEM
Time : Three Hours Mucimum Marks : 100
Note = (i) Attempt total Six questions. Question Neo, 1

(Objective type) is compulsory. From the
remaining questions atlemnpt any fve.
F T TF 5 e 5E w1 (T
e ) AR B 4w # & T
Eak: L

(ii) In case of any doubt or dispute, the English
version guestion should be treated as final.
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1. Choose the correct answer, 2 each
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7. a) Explain Security problems and Authentication.
o
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Explain advantages ol distributed operating
system. 9
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E. Write short note on: (any threc) 6 each
i) Multiprogramming Operating System.
ii) Process Control Block (PCB)
iiif) Segmentalion
iv) RAID Technology
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i} Paging suffers from:

{a) Internal fragmentation haaltd
(b} External fragmentation ()T
-{¢) Both (a) and (b) (a) Tz sirit wigm
(d) None of these » () e
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(o) o wRA (1) TR B ‘ @) & e 7
() ) e (a) & () R e iv) Where does the swap space reside?
=) (3 i ik TS s i
. (a) RAM {b) Disk
i) ‘;‘;1;1;?] ;; f:‘sltzzmg is an example of real time (c) ROM (@) Cache
(a) Flight control wm A e A
(b) Industrial control system (@) (3) ferm
{c¢) Real time simulation (a) i ) () ¥
(Ed) EAEH Of_;h; a;:;v; el 2T TR fewe . v} FIFO Scheduling is-
i . () et v Tt (a) Preemptive (b} NonPreemptive
() e i - S (c) Deadline {d) None of the above
(w) frow 7w gRem (=) SR AR .
i) Which of the following resource can casc gRfei
deadlocks. (3} e (@) 7 St
(a) Printer () Read only file (H) TTmrA (%) 5is | & FE T
{c) Reentrant code {d) None ofthe above )
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What is swapping? Explain paging in bricf. ¢
w7 R ReEn A )

2. 4 Explain services provided hyc)pemtmgsyﬂmné 4. a)
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b} What is Deadlock? How deadlock is prevented.
b} Explain various state of'a process with disgram. N
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3, &) Whatis system call? Explain. 9 5. a)  What is vinual memory? How it is implemented
Feeen e 37w using demand paging. 9
by Tor the following labs calculate the averige T S w27 Rl iR ogm m W
waiting time and average turn around time using implement 3 A #
FCFS and SIF scheduling algorithun. 2 b} Explain page replacement algorithm with
Frm Wi & T ECFS S S)F drgfim o example. 9
3 e 3 T R T o wR T W i Feteite woriiiten &) gawn Aitd ARETE
T
Process Burst time 6. a) Explainvarious file allocation methods, 9
s . T Tt HIZA ey HE I AR
10 s - . . N
Pl by Explain sean and C-scan disk scheduling with
P2 9 example,
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